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QUESTION 58 
What are three NSX Manager roles? (Choose three.) 
 
A. cloud 
B. manager 
C. zookeeper 
D. policy 
E. master 
F. controller 
 
Correct Answer: BDF 
 
 
QUESTION 59 
An NSX administrator is troubleshooting a connectivity issue with virtual machines running on an 
ESXi transport node. Which feature in the NSX UI shows the mapping between the virtual NIC 
and the host's physical adapter? 
 
A. Switch Visualization 
B. Port Mirroring 
C. Activity Monitoring 
D. IPFIX 
 
Correct Answer: A 
 
 
QUESTION 60 
What needs to be configured on a Tier-0 Gateway to make NSX Edge Services available to a VM 
on a VLAN- backed logical switch? 
 
A. Service interface 
B. Loopback Router Port 
C. Downlink interface 
D. VLAN Uplink 
 
Correct Answer: A 
Explanation: 
"The service interface is a special-purpose port to enable services for mainly VLAN-based 
networks. North-south service insertion is another use case that requires a service interface to 
connect a partner appliance and redirect north-south traffic for partner services. Service 
interfaces are supported on both active-standby Tier-0 logical routers and Tier-1 routers. Firewall, 
NAT, and VPNs are supported on this interface. The service interface is also a downlink" 
 
 
QUESTION 61 
An NSX administrator would like to configure syslog for a KVM transport node. Which host log 
files could be exported to a remote syslog server? 
 
A. /var/log/vmware/nsx-syslog 
B. /var/log/cfgAgent.log 
C. /var/log/nsx-audit.log 
D. /var/log/cloudnet/nsx-ccp.log 
 
Correct Answer: A 

http://www.ensurepass.com/2V0-41-20.html
http://www.ensurepass.com/2V0-41-20.html
http://www.ensurepass.com/2V0-41-20.html


Download Full Version 2V0-41.20 Exam Dumps(Updated in Feb/2023)

2V0-41.20 Exam Dumps   2V0-41.20 PDF Dumps   2V0-41.20 VCE Dumps   2V0-41.20 

Q&As https://www.ensurepass.com/2V0-41-20.html

 
 
QUESTION 62 
Which CLI command does an NSX administrator run on the NSX Manager to generate support 
bundle logs if the NSX UI is inaccessible? 
 
A. get support-bundle file vcpnv.tgz 
B. set support-bundle file vcpnv.tgz 
C. vm-support 
D. esxcli system syslog config logger set --id=nsxmanager 
 
Correct Answer: A 
Explanation: 
https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3c1-eb34-4567-a916-
147e79798957/8264605c-a5e1-49a8-b603-cc78621eeeab/cli.html 
 
 
QUESTION 63 
Which two ports are used by a transport node to communicate with the management and control 
planes in NSX-T Data Center 3.0? (Choose two.) 
 
A. 5685 
B. 1235 
C. 5671 
D. 5678 
E. 1234 
 
Correct Answer: BE 
Explanation: 
The NSX Manager management plane communicates with the transport nodes by using APH 
Server over NSX-RPC/TCP through port 1234. CCP communicates with the transport nodes by 
using APH Server over NSX-RPC/TCP through port 1235. Taken from NSX-T ICM 3.0 Lecture 
manual 
 
 
QUESTION 64 
How many IPs are required when deploying a highly available NSX Management Cluster with VIP 
in a production environment? 
 
A. 5 
B. 6 
C. 3 
D. 4 
 
Correct Answer: D 
 
 
QUESTION 65 
In a NSX-T Data Center environment, an administrator is observing low throughput and 
congestion between the Tier-0 Gateway and the upstream physical routers. Which two actions 
could address low throughput and congestion? (Choose two.) 
 
A. Deploy Large size Edge node/s. 
B. Configure ECMP on the Tier-0 gateway. 
C. Configure NAT on the Tier-0 gateway. 
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D. Add an additional vNIC to the NSX Edge node. 
E. Configure a Tier-1 gateway and connect it directly to the physical routers. 
 
Correct Answer: AB 
 
 
QUESTION 66 
Which command is used to display the network configuration of the Tunnel Endpoint (TEP) IP on 
a bare metal transport node? 
 
A. ifconfig 
B. tcpdump 
C. debug 
D. ipconfig 
 
Correct Answer: A 
Explanation: 
https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/installation/GUID-B7E7371E-A9F6-
4880-B184-E00A62C0C818.html 
 
 
 
 
 
QUESTION 67 
Which CLI command is used to start the NSX Manager virtual machine in the KVM environment? 
 
A. virsh start <NSX-Manager-ID> 
B. virsh poweron <nsx-manager-ID> 
C. virsh start <NSX-Manager-Name> 
D. virsh poweron <nsx-manager-name> 
 
Correct Answer: C 
 
 
QUESTION 68 
Refer to the exhibit. Which NAT type must the NSX-T Data Center administrator create on the 
Tier-0 or Tier-1 Gateway to allow Web VM to initiate communication with public networks? 
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A. SNAT 
B. Reverse NAT 
C. DNAT 
D. 1:1 NAT 
 
Correct Answer: A 
 
 
QUESTION 69 
Which CLI command would an administrator use to allow syslog on an ESXi transport node when 
using the esxcli utility? 
 
A. esxcli network firewall ruleset -e syslog 
B. esxcli network firewall ruleset set -a -e false 
C. esxcli network firewall ruleset set -r syslog -e true 
D. esxcli network firewall ruleset set -r sysloq -e false 
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Correct Answer: C 
 
 
QUESTION 70 
An NSX administrator is creating a NAT rule on a Tier-0 Gateway configured in active-standby 
high availability mode. Which two NAT rule types are supported for this configuration? (Choose 
two.) 
 
A. Port NAT 
B. Source NAT 
C. Destination NAT 
D. 1:1 NAT 
E. Reflexive NAT 
 
Correct Answer: BC 
 
 
QUESTION 71 
Which statement describes the VMware Virtual Cloud Network Vision? 
 
A. Virtual Cloud Network connects and protects virtual machines running in KVM environments. 
B. Virtual Cloud Network connects and protects virtual machines running in vSphere environments. 
C. Virtual Cloud Network connects and protects applications, regardless of their physical locations. 
D. Virtual Cloud Network connects and protects applications and data, regardless of their physical 

locations. 
 
Correct Answer: D 
 
 
QUESTION 72 
An NSX administrator is using ping to check connectivity between VM1 running on ESXi1 to VM2 
running on ESXi2. The ping tests fails. The administrator knows the maximum transmission unit 
size on the physical switch is 1600. Which command does the administrator use to check the 
VMware kernel ports for tunnel end point communication? 
 
A. esxcli network diag ping -H <destination IP address> 
B. vmkping ++netstack=geneve -d -s 1572 <destination IP address> 
C. vmkping ++netstack=vxlan-d -s 1572 <destination IP address> 
D. esxcli network diag ping -I vmk0 -H <destination IP address> 
 
Correct Answer: C 
Explanation: 
https://kb.vmware.com/s/article/1003728 
 
 
QUESTION 73 
Which two logical router components span across all transport nodes? (Choose two.) 
 
A. DISTRIBUTED_ROUTER_TIER0 
B. SERVICE_ROUTER_TIER0 
C. TIER0_DISTRIBUTED_ROUTER 
D. DISTRIBUTED_ROUTER_TIER1 
E. SERVICE_ROUTER_TIER1 
 
Correct Answer: AD 
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